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a1. Provide the missing reagents and prodycts: '
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Q3.
a- Arrange the following nitrogen compounds according to the
increase in their basicity.

ID/HH: ©/m|, B,m-, F.cmﬂ\{’r

b- Arrange the following EN“F"'-"’“" w“ﬂ to the increase in
'I"hmr acidity.




Q4. Write a clear mechanism for each of the following two reactions
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~ @5. How the following two conversions might be accomplished?
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asé. Identify each circled heterocyclic nucleus in the following
structures.




Q7. Regarding to the antibiotic (Amosxyeiliin)
o)t
o COOH

Amoxycillin is very sensitive to moisture. Explain using chemical
equations as convenient as you can
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b- Replacing the CHiBr by HCl leads to form the quaternary
ammonium chloride salt; draw this salt structure. If you ore

working in drug design: which salt would you advice to
<ize os o better sait form drug; the bromide or the

chloride one? Explain.
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b- A strong Oxidation of O-Cresol using KMnO, followed by its
reaction with thionyl chloride providing (A). The product A was
treated with ammonia to provide white crystals (B) that were
refluxed with bromine in sodium hydroxide solution providing a
compound (C). € was later treated with Phesgen: providing
compound (D) with molecular formula C/HsNO;. Can you please
provide a reasonable structure for the compound D.
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